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Knowledge objective fallsunder . domain.

a. Cognitive b. Psycho-motor

c. Affective d. None of the above

Whose law governs everything?

a. National b. International

c. Natural d. None of the above

Which is nol true aboul a Lesson Plan?

a. It helps in orderly delivery of b. Itsaves from haphazard teaching
conlents

c. Itis developed by students d. It develops confidence

A good social science text book should

a. Be self-explanatory while also b. Be self-explanatory and not contain
containing references. references.

¢. Depend on references to help the d. None of the above

student understand the whole picture.

Which of the following is not true about teaching aids?

a. Itis portable b. It promotes active participation.

¢. Itcan be found locally d. Iteases the student-teacher
relationship.

______ refers to three dimensional objects from real life such as coins, tools and textiles.

a. Diorama b. Realia

c. Improvised materials d. None of the above

Which is not a part of bringing the community to the school?
a. Inviling resource persons b. Field trips
c. Parent Teacher Association d. None of the above

The David Scott Monument in Cherrapunji is a community resource in Meghalayva
which will fall under 2

a. Resources of scientific interest b. Resources of geographical interest
¢. Resources of economic interest d. Resources of historical interest

The purpose ol assessment is to s :
a. Cerlity b. Judge quality
¢. Increase quality d. None of the above

Continuous and comprehensive Evaluation (CCE) considers both
a. Formative and Summative Evaluation  b. Scholastic and Non-scholastic aspects
of the child

¢. Botha&b d. None of the above

Oral, written and practical techniques of assessment are characteristicsof .
a. Quantitative techniques b. Qualitative techniques

c¢. Botha&hb d. None of the above
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